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UG 3rd Semester Examination 2021

ZOOLOGY (Honours/General)
Paper Code : DC-3/GE-3

(Physiology and Biochemistry)

Full Marks: 25 Time: Two Hours
(The figures in the margin indicate full marks)

(Candidates are required to give their answers with their own words as far as practicable)

1. Answer eight questions taking four from each group. 2 x8=4
(Group A: Physiology)

(a) Actin filament is made up of which proteins?

(b) Digestion of carbohydrates begins in the intestines. (True/False)

(c) Chemical that transmits an impulse between one nerve and the next, or between a nerve and
the neuromuscular junction is known as . (Fill in the blank)

(d) Which valve separates the left atrium from the left ventricle?
(e) Which hormone is secreted by the alpha cells of the pancreas?
(f) Leydig cell is found in which organ?
(Group B: Biochemistry)
(g) Write down the full form of DHAP.
(h) Give an example of purine.
(1) How many NADH is produced in each TCA cycle?
(j) Give an example of heteropolysaccharide.
(k) Which enzyme converts glucose into ethyl alcohol?

(1) Give one example of conjugated protein.

2. Answer two questions taking one from each group. 2% %x2=5
(Group A: Physiology)
(a) Briefly describe saltatory conduction of nerve impulse.

(b) Distinguish between cortical and juxtamedullary nephrons.



(Group B: Biochemistry)
(c) Briefly describe the tertiary structure of a protein molecule.

(d) Differentiate between B-DNA and Z-DNA.

3. Answer four questions taking two from each group. 4x4=16
(Group A: Physiology)
(a) Briefly discuss the structure of a testis.
(b) Mention the physiological effects of epinephrine and nor-epinephrine.
(c) Briefly discuss the process of muscle contraction.
(d) Classify hormones with suitable examples.
(Group B: Biochemistry)
(e) Define lipids and classify them with suitable examples.
(f) Schematically represent the different steps of urea cycle.
(g) Classify enzymes on the basis of their functions with one example of each class.

(h) Briefly describe Watson and Crick model of DNA.
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